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1. A bullet is fired vertically from an initial height of sy =

0 with initial velocity wy. Suppose that

the bullet follows Galileo’s equation of motion s(t) = sg + vgt — gt2

(2) Show that the bullet will attain its maximum height at time ¢ = o
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(b) Using you answer to part (a), or otherwise, determine
bullet to reach a maximum height of 2km.

me fagggmw ot f;[/h@ {;”__.
M L\QEOL{;-U) CL@,
V. P
S(}f) = b¥)- 2 ‘H
LT

GRS

g(_\c:f\ OOOM “

\J
; RS
= 2= 2o,
v
~ r&- 000 ¢ m/g

V’O @Vo A 0

the initial velocity vy required for the

[10]



. |
U@,}L}SW,K : |

2. A 16ft ladder leans against a wall. The bottom of the ladder is 5ft from the wall at time t = 0
and slides away from the wall at a rate of 3ft/s.

(a) Determine the distance of the bottom of the ladder from the wall at time ¢ = 1 and the height

of the top of the ladder from the ground at time ¢t = 1, [5]
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(b) Find the velocity of the top ladder at time ¢t = 1. [10]
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